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questions
Timel Three houre

the "feasible region for a linear programming problem,,.

how do you find the optimal solution in the graphical method.

Ltd. has two products Drought and Flood. To produce one unit of Drought,
r of raateria,l A and 1 unit of each material B and mate al C respectively are

red. To pxoduce one unit of Flood, 1 unit of each matedal A and maieria.l B
ctively and 2 units of matedal C arc required. Not more thalr 40 units of ma-
C can be used and at least 2Z units of material A must be used and the use of
ial B in total should be equal to 21. The selting price per unit of Drought and
are Rs.16 and Rs.8 respectively. The maDufacturing cost per uait of Drought

are n-s.8 and Rs.4 respectively. Fomulate Mathematica,l model for this
and solve it for qrinimum cost.



Q2. Use simplex method io solve the {ollowing Linear Prograrnming Problem:

Maximize Z = 2cr + 3u2 + 4o3, subject to the constraints:

3r1 +02+4r3 < 600,

2rt+4r2+2q >. 480,

2cz+3rz+3sz : 540, cr,xz,tt)zO.

Q3. Use Revised Simplex Method to solve the following linear programming problem:

Mtnimize Z : -4h + a2 + 2rs, subject to the cotrstrainb:

2a1- 3x2 + 2a3 < 12,

-b,1+2s2 +3ca > 4,

3x1-2as: -I, t1,t2,a3 ) O'

Q4. Briefly explain the Vogel's approximation method

A company has four factories situated in four diferent locations hr the countty and loj

sales agencies located in four other locations in the country The cost of production

per unit), the sale price (Rs. p€l unit), the thipping cost (Rs. per unit) in the ce

matlix, the monthly capacities and the monthly lequirements are given below:
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Monthly tequirement 8 12 18 22

Sa.les price 20 22 25 18

Find the monthly production and disiribution schedule whic'h will maximize profit



the steps invoived in solving minimization assignment problems'

ine operator processes five types of items on his machine each week (weekdays

), and must choose a sequence lor them The set-up cost per cha[ge depends on the

presently on the machine and the set-up to be made, according to the following table:

opera,tor ptocesses ea.ch type of item once a'nd only once each week' how should he

the items on his machine in old€r io midmize the total set-up cost?

the maximum flow for the folloving network using:

itive technique,

hechnique.
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